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B B VRIS 6 D % L7 fs, desiepsateil e L.
— gt
X5l B 5 FErE | W58 | x| e | e
M T 2,973,867FM 2,848,094FM 95.8% 1,404,819F M 47.2%
AR 6,595,982FM 6,743,092FM 102.2% 2,441,494FM 37.0%
6 A& - FHA 432,415FM 410,998+M 95.0% 195,303FF 45.2%
e B X YE & 3,342,145FM 1,798,623FMH 53.8% 1,286,212FMH 38.5%
e A & 379,5652FH 82,882FH 21.8% 81,381+H 21.4%
B 1Y A 312,867FH 218,934FM 70.0% 160,856 M 51.4%
M & 1,056,366 M 672,744FH 63.7% 672,744FH 63.7%
A | F D ftb 1,115,118F M 1,037,282FMH 93.0% 417,740FHM 37.5%
=] 5 16,208,312FH | 13,812,649FH 86.2% 6,660,549FM 411%
5l B 5 TERE | Z0EB | 55 % | THatE | o=
A % = 1,465,808F M 689,131F+M 47.0% 368,199FHM 26.1%
B = A = 3,008,833FM 2,358,080FM 78.4% 1,306,348F M 43.4%
& A = 1,992,713FH 1,908,461+ 95.8% 1,178,543F M 59.1%
B MK E X & 986,217FHM 442 ,519FM 44.9% 281,866FH 28.6%
+ 7N = 1,811,328FH 1,365,773FH 75.4% 668,952FM 36.9%
e B = 989,581+HM 868,018F+M 87.7% 398,967FHM 40.3%
N 1& = 2,220,847FM 2,207,916FM 99.4% 1,109,913FMH 50.0%
B 8 = 3,209,434FM 3,180,955+ M 99.1% 1,642,240FF 51.2%
sl Z D fth 523,651FH 430,167FM 82.2% 186,392+ 36.6%
=] g 16,208,312FH | 13,451,020FH 83.0% 7,141,419FHM 441%
S
T - = x = m
2HB TERE i Ee g0k THE B0 X & FE B0 THRDE BaE
@t 9,703FH 9,580FH| 98.7% 198FH| 2.0% 5,292FH| 54.5% 2,604FH| 26.8%
ERZEZE | 4,242,256FA| 3,390,961FM| 79.9%| 2,024,424F0| 47.7%| 3,750,321FM| 88.4% | 1,998,978FH| 47.1%
EZANRRE 265,661FH| 264,801FMH| 99.7% 14,750F0| 5.6%| 246,342FM| 92.7% 6,083FH| 2.5%
TSIKALIE 26,287FH 10,966FH| 41.7% 7113FH| 27.1% 26,285FH|100.0% 12,661FH| 47.8%
BEZERK 51,961FH 40,316FH| 77.6% 20,760FH| 39.9% 45,364FM| 87.3% 32,628FH| 62.6%
EE(RPE | 1,493,887FH| 1,246,182FH| 83.4%| 569,329FH| 38.1%| 1,339,252FM| 89.6% | 639,423FA| 42.8%
®EASE 284 ,944FM| 192,821FM| 67.7%| 100,608FA| 35.3%| 243,198FMH| 856.3%| 170,719FH| 59.9%
=] 5t | 6,374,698FH| 5,155,627FH| 80.9%| 2,737,177FH| 42.9%| 5,666,004FM| 88.7%| 2,863,396FH| 44.9%
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